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QUESTION 1

Click the Exhibit button.

::> system license show-status —-license NFS —-fields license
status license

::> nfs show —fields access,v3,v4.0,vi.1,v4.0-acl

vserver access v3 vid .0 vd.0—-acl wv4.1
swml fals= enable=ed enabl=ad disahled senablad
svmZ true enabled disabled disabled enabled

A storage administrator is unable to mount NFS volumes in the SVM1 namespace. Referring to the exhibit, what is
causing this problem?

A. The NFS v4 ACL support is disabled

B. The NFS protocol is disabled

C. The NFS license is disabled

D. The NFS v3 and v4 protocols are running at the same time.

Correct Answer: B

QUESTION 2

A storage administrator is not receiving performance alerts on an OnCommand Unified Manager policy that was created
for a NAS volume.

Which additional task Is required to solve this problem?
A. You should assign a tiering policy.

B. You should assign the performance threshold policy.
C. You should clear the performance threshold policy.
D. You should search for volume datA.

Correct Answer: B

QUESTION 3
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On an All Flash FAS, where is the root parity information located on a node using Advanced Disk Partitioning?
A. on a single SSD drive, regardless of RAID type

B. on a single SSD partition

C. distributed among SSD patrtitions

D. on two SSD drives, regardless of RAID type

Correct Answer: D

QUESTION 4
You have a 4-node cluster with 2x AFF A300 and 2x FAS8200 controllers. One of the AFF A300 controllers

has a 50 TB FlexVol volume that needs an immediate read-write copy for standalone testing on one of the FAS8200
controllers.

Which two commands combined accomplish this task? (Choose two.)
A. volume rehost

B. volume clone create

C. volume move

D. volume clone split

Correct Answer: BD

QUESTION 5

You relocate an aggregate to a different node by using the storage aggregate relocate command. In this scenario, which
rule applies?

A. You can only relocate an aggregate that is not assigned to a specific SVM.

B. You must first break the relationship to move an aggregate that hosts a replication destination.
C. You can only relocate an aggregate to the HA partner node.

D. You cannot relocate an aggregate that is hosting a FlexGroup constituent volume.

Correct Answer: C
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